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g fI| K % i A Bl total hole in one.NO
® Bl B R E & F 28 34 62 -4
EER | B OB = R F 33 30 63 -3
B3| # L - 32 32 64 -2
B4 N #k 5 ¥ 29 37 66 0
B 5L 2 R F 30 36 66 0
F6L| B OB A 3 T 31 35 66 0
BRIl &7 E WL F 37 38 75 9
£ | B = Al ¥ 38 37 75 9
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IE | K 2 =1 Al F total hole in one.NO
7 Bl B g7 A 27 29 56 -10
EER N W F = 27 29 56 -10
3| A B OB — 28 30 58 -8
BAf| B R B B 31 28 59 -7
BLf| & Z 23 — 28 33 61 -b
ORIV - S < I S 31 30 61 -5
KV = 12 29 33 62 -4
B 8| # H — = 31 33 64 -2
BIfI| A 1Ly 2 31 33 64 -2
B100I| & Eiyd £ 30 35 65 -1
Bl & M = £y 32 33 65 -1
124l N B A B 38 29 67 1
B13| & g7 7t e 29 39 68 2
B140L| M F F & 33 38 71 5
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